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⑮ Let A
,
B be distinct points .

AB
B-

We want to show that -
int (EB) = FB-EA ,

BY A

is convex .

-

Let l
= AB .

Let fil
+1 be a

ruler.

We can have
f(A)<f(B) or

f(B)<f(A).

Since int (FB) = FB-5A ,
B3 = A - [A ,By =

int (B)

f(A)c f(B)
we may

assume that

Otherwise , just
interchange

and relabel
A and B.

Thus,
assumef(B).

From problem
3 We have

FB = (((() + (A) = f(x)
= f(z)]

Since int(EB)
= FB-EA ,BY we get

int (FB) =(c(q)
+ (A)( +()

< f)(B))
.





If f(Q) < f(p) , then

problem

·
S3

Fa =((+ b) + (a)
+ () = f (p)]

a
=int(FB) .

-

.

So
,
FQE int JAM

In either case
EQ int(EB)

.

So ,
int(FB) is convex .
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